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Exercices de Mathématique
Deérivées - Serie n°2

© Calculer la fonction dérivée des fonctions suivantes :

a)

b)

c)
d)

e)
f)

g)

h)

i)

flr)=2x"-7x°+4

F()= ln( xj !

ln(2x)
fl)=x" x> +3
f(x)=1n(5x* - x)
f)=x=6)x+2)
F()= sm(x)+ 4x*

f(x)=mm

f( )_ (3 2x)z
£(x)=sin’(15x)

A Idem...

a)
b)

c)

d)

g)
h)

flx)=5x-e>"
£ (x)=cos(3x) In(x—1)
f(x)z Sin()cz)65+2x

f(x)— 3x 1

f(X)=e7—x

f<x>=ﬂ£—2)
f)= NE

)= ln(/il—x x +3 )j

f(X)_ «/2x +3

J) f(x) 1(3)

k) f(x)= tan(§j

x=35
DAL ey W ey
m) f(x):cos(«/4x+2)
n) f(x):ln(l—cosz@x)]

0) f(x)= sin(%)

p) f(x)zxj(\/—;]

i) f(x)=cos’(5x)-7 +sin*(5x)
SIOREDACS

D fl)=e-e”
m) f(x)z el

e’ —e'

n fx)=
0) f(x)=sin(2x)-cos(5x)

P) f(x)z«/sinix2 )

qQ flx)= 1n(cosGD



